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2015 Yfaest Y39us (SAMPLE PAPER)

A fagm= (@@"}Tﬁﬁ) Time:3 Hours

(Max. Mark-100)

forden:

9 U U3 H @l 30 U & | W U g BRI AR © |

T AT 1 ¥ 8 T IMd g SR U © AR UAd 1 3P Bl T |

T AT 9 ¥ 18 T oY SR U 2| TS YT 2 3 &l T |
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Note:

There are 30 questions in all in this Q.P. All questions are compulsory.

Question No. 1 to 8 are very short answer type & carry 1 mark each.

Question No. 9 to 18 are short answer type& carry 2 mark each.

Question No. 28 to 30 are also long answer type questions carry 5 mark each.

Long table can be used if required. Use of calculator is prohibited.

Start from the first question & proceed to the last. Do not waste time over a question, if you
cannot solve it.

fopeeeT Sietd W 1 Iffu § 2

What is meant by crystal Lattice ? 1
STl BT ARG Heed a1 8 ?

What is the chemical composition of Dettol ? 1
gD PHBV @ UdHcdd SHIZAT 9T & 2

What are the monomer units of polymer PHBV? 1

ST YD FT & P
What are reducing sugars ?
QWH%TQTW&%HWWHW%%QWWWWWW |
Give a chemical test to distinguish between ethanal & propanone. 1
2—FARIIIUT TAT 2—FHIGST § ¥ PIF gauT FHAEGIAT Ya¥d BT 2 3R -l ?
In 2- chlopropane & 2- bromobutane which one will exhibit optical isomerism and why ? %+%
SATDHIN dRUITHD 3R] Qéf 3T AT Wﬁ % ?
What do you understand by size selective catalysis ? 1
fRefTe™ ¥ 39 T wEeT € P
What do you understand by leaching ? 1
9 BT % IQTERVT §RT AHSMEU—
(@) UfTSTe efAaT 3fiyer (@) wfa 3
Explain the following with an example. 1+1
(a) Antifertility drug (b) Antacid
=T 9gctl &I a1 &1 fafdr fsg—
(@) U (@) S
Give method of preparation of following polymers. 1+1
(a) Teflon (b) Decron

DY g e ?

(@) BIFTA TAT TAATA (@) W13 TAT U= —2—3ifel

How will you distin guish between - 1+1
(a) Phenol & Ethonal (b) Propan-1-ol and propan-2-ol
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WHld & Foiella’T ¥ S8 Udd $eR & faved @ sifafear @ fharfafsr i |
Give the mechanism of reaction for preparation of diethyl ether from dehydration of
ethanol. 2
BRI FATGU— 1+1
(@) el BISa sroe srfiforar uelRfa F&f o= |
@) faver Afermrss Feevo gRT WiHfed Wi THIE F8l §918 ST Al |

Give reasons.

(a)Aniline does not give Friedel Craft’s reaction.

(B)Aromatic primary amine cannot be prepared by Gabriel pthalimide synthesis.
‘<N‘|I¢li:lfb AHIHRT QhX HHLATRU—

Explain giving chemical equations. 1+1

(@) Brfdergd AfAfopar (@) drest—3HE srfafean

(a) Carbylamine reaction (b) Balz-schiemann reaction
3174aT  (OR)

T BT & 99 (@del Fxgfold e FHIBROT SIfTg)—

What happens when (given balanced chemical equation only)

(@) &RIT AITH H Il SISUSI-IH FARISS BiAle 9 fohar &-ar 2 |
Benzene diazonium chloride reacts with phenol in analkaline medium.
() TS @ fohar S e STefld KOH ¥ i # |

Propanamide is allowed to react with bromine and aqueous KOH.
27°CR IRAT & M/10 FIeIT & WRR T ST 3T |

Determine the osmotic pressure of M/10 solution of urea at 27°C. 2
=1 Pl AHSMgU—

() 9 oTiH (@) B T 3ifAfeha

Explain the following. 1+1

(a) Temperature coefficient (b) Pseudo unimolecular reaction

o # R gagy |

(@) Toi9 g e (@) xd T Wil

Give difference between- 1+1

(a) Roasting & Calcination (b) Ores & Mineral

IUPAC Al @ eTaIR WR 71 @l 33 forRag— 2
(F) TIAYHIA PraTee (i) FARTSS (@) UreRrM grgaiasterel TRgHE (iii)

(a) Hexaamine codalt (iii) Chioride (b) Potassium Trioxalato aluminate (iii)

TP Ugred fcc Soid # fhecelind BT & Ife Udhd HISH! I HR ofwls 600pm & ol
ggref BT g9 1.986 gem® B A Uaref & HIeR GH @Y T B |
A Substance crystalises in fcc lattice. If the edge lengh of unit cell is 600pm and the density of

substance is 1.986 gcm?, then calculate the motor mass of substance. 3
7 B FHIIgU—
Explain the following. 1+1+1

() sa—=d el 5 ISee BT 4
Raoult’s law for liquid-liquid solution
(@) dve BIh oTH
Van’t Hoff factor
(1) R &1
Henry’s Law
() TR 298K H 10K Pl gfg B WR Teb IAAMTD AHAT B1 I AT 8 ST & 39
IAfHT 2 Ea @I UM BHIFT |
Increase in temperature by 10k at absolute temperature 298k makes the rate of a reaction
two times. Calculate Ea for the reaction.

(@) T SIMAfHAT H AWDRD BT AFEdl G PR IR AMAfhAT é?T 313 AT &
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ST ® | 39 Ifffshar & dife @ gefy ?

The reaction rate becomes eight times upon doubling the concentration of the reactant in a reaction.

What will be the order of reaction ? 1
1 P THsIgU—
Explain the following. 1+1+1
(@) sfewT ama fafr (@) ArgTor (1) s+
(a) Bredeg’s Arc method (b) Chemisorption (c) Brownian movement
HROT IATST—
1+1+1

(@) Mabcd UHR & TITHADBI Adhel SATHIT FHATGIIAT YaTRId Tl & |
(@) HqHA [Ti(H0)6]Cl; B TH TR TR Ig FTEH 81 offar 2|

Complex [Ti(H,0)s]Cl; becomes colourless upon heating.

(M [NiCl] > g & Sfd [Ni(CO),] o graia |

Give reasons.

(a)Tetrahedral complexes of Mabcd type do not show geometrical isomerism.

[NiCly] s paramagnetic whereas [Ni(CO)4] diamagentic.

IR TS

() TATSHIATSS! A TAT UC[SS e |

(@) 3MaTTPH TAT TGS THHAT 3+ |

(7T) gfFTh o & QT Sifdd B sy |

Give difference between. 1+1+1

(a) Glycosidic bond and peptide bond.

(b) Essential and non-essential amino acids.

(c)Write two biological functions of nucleic acids.

& urafid gfewmd gargs [A] R afdad 3 & C4HoBr T |

Uehlaifld KOH ¥ 3fafssar @ difftes [B] <ar & e [B] HBr @ <mer sifafsan o
AT [C] <1 2 < fos At [A] &1 wFeedl & o9 Aiffe [A] @ fhar |aifeaH arg 9
Bl © a1 AIfTd [D]  RTA®T 3 CgHyg & 99T & Ol b Ffed drss @l Afsgq |
T IR 9 = 7 e [A] & SR g3 g | dn 9l afaftearell & e
ferfag |

A primary alkyl halide [A] having molecular formula C4HsBr gives conpond upon reaction
with compound [B] upon reaction with alc. KOH. compound [B]reacts with HBr to give
compound [C]. which is an isomer of compound [A]. when compound [A] is allowed to

react with sodium metal, compound [D] having molecular CgH1sg is formed. Which is different
from the product by the reaction of sodium with butyl bromide. Give the structural formula
of [A] and write equations for all the reactions involved. 3

PRI T Y W DI |
Bring out clearly giving reasons. 1+1+1
(@) HpHOT & TAT S 3T ANTH ITH IAURD Bl BRI B o |
Transition metals and most of their compounds act as good catalysts.
(@) Cu* M STefia faed & SRy & |

Cu" ion is unstable in aqueous solution.
() Cr** 3U=ErId § STdfdh Mn®* SifaRITHR |

Cr**is a reducing agent whereas Mn>*an oxidant.
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3127 (OR)
(@) PSS D A K,Cr,0, BT faRas & fhar SIrar 8 IRmaf e FiaRer Sax awegy |

How K,Cr,05 is prepared from chromite ore ? Explain giving chemical equatons. 2
(@) 1 Aed &1 e Fued <d gV SHG U SUANT IToTY |
Give one use of misch metal giving its chemical composition. 1
S gRafcd &I ? (ddd ARG FHISHI0T SIRTY)
How will you convert (Give chemical equations only) 1+1+1

(@) BIFHRA BT HIEHIA |
Phosphorus to phosphine
(@) TESIFANRD A+ Pl FART H
Hydrochloric acid to chlorine
(1) ST BT AgEro H
Ammonia to Nitrogen
(@) PICRISY BT 9 qATSY TAT $HD I AJUAN QITTT |
State kohlrausch’s law and give its two applications. 2

(@) CusO, @ fIera @ 1.5 TFIIR &1 9_T | 10 fiFie d& dgd smEfed f&ar Tar| dors

R F&fT SR &1 g9H= ® ER1 2
A solution of CuSQ, is electrolysed for 10 minutes by a current of 1.5 ampere . What is the
mass of copper deposited at cathode ? 1'/2
(7) 298K TR 0.20M KC| faea & areldhdr & is 0.0248 Scm™ &, & AleR dATeTddl Bl

YR DIfTY |
The conductivity of 0.20M KCl solution At 298K is 0.0248 Scm™. Calculate its molar
conductivity. 1'/2

Jerar (OR)

(@) oI FarId I @ AT ARTY Td 399 M doff fFARI9eE & SR1E 8 dTell A
rfaferarent @ W IR |

Give the construction of Lead storage battery & bring out clearly the cell reactions that take

place during charging and discharging. 22
(@) =1 Tt AfThar 3 AR ReRid &l ITUMET HIFSTY |

Calculate equibrium constant for the cell reaction given below:

Cu(S)+2Ag"( aq)—Cu** (aq) +2Ag(s) E’.=0.46V 12
(M) 1 Hre AP B H ERid R Bq Ty wed faga @1 sravaedr sRf?

How much electricity in coulomb will be required to reduce 1 mole A** to Al. 1

(@) TP Bral-1db A [A] AM0TH A CgH160, PI T HS0, & A1 ST qHfSd B &
SR Y Praiiadferd 3 [B] Ud U Uebleiad [C] Urad gam, [C] &1 Hiffid et
sifafiard H W [B] Sca 81l © [C] fofeliaser R &ge—1—39 <ar 2 [A] [B] @@ [C]
% GRIAT A < gU IAAHITAN H Uge RS FHIBR ST |

A carboxylic acid [B] and an alcohal [C] is obtained after hydrolysing an organic compound
[A] having molecular formula CgH160, with dil H,SO4 upon oxidation with chromic acid
gives[B] [C] . Upon dehydration gives but-1-en Giving structural formula of [A] [B] and [C]

write chemical equations involved in the reactions. 3
(@) & g9 ?
How will you prepare. 1+1

(1) T A difeseIss
Benzaldehyde from Toluene
(2) 9o | "

Propane from Propanone



)

30.

J12rar (OR)
(@) f=1 rfaforaretl @ e RGBT Y |
Give chemical equation for following reactions. 1+1+1
(1) TaBIeTS Sifer=ean! fAforar
Hell Volhard Zelinsky reaction
(2) drew fheR UaTA
Wolf Kishner Reduction
(3) SMATSIBH IrfAfdar
lodoform reaction
(@) D faig w3 ?
How will you distinguish between? 1+1
(1) wHfesegs q Bifid I
Formaldehyde and Formic acid
(2) d~ifesergs dAT THIRIHEM
Benzaldehyde and acetophenone
(@) sicdres faftr gRT ARfe® o & ienfire fmior &1 Amifea o & Jerar & avi=
P |
Describe with the help of labelled diagram industrial manufacture of nitric acid by ostwald’s
process.
&) fr= @ e g
Give the structures of following- 1+1
XeFs (i) CIF;

31qar (OR)

T & BRI T DHIFTI—
Give the reasons of the following- I+1+1+1+1
(@) HIEPRT UTRATSS g1dT & STdfd Aggroi el |
Phosphorus forms pentahalide where as nitrogen does not.
(@) SEAfRioT Teh 9 8 Iafdh e o o 2 |
Dioxygen is a gas whereas Sulphur is a solid.
() TR BT FOMHD ATl Tl FeRg 3 & 8l ¢ |
Negative electron gain enthalpy of fluorine is lesser than chlorine.
(@) IC1 & foparefierar L, & a1fdre B |
ICl is more reactive than I.
(€) S 1 & Torid g Fguie 9gd A B 2|
Noble gases have very low melting and boiling points.




